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1. Explain the Marginal Productivity theory of distribution. 14
OR
Critically analyse Recardian theory of rent.

2. Discuss the concepts of normal and super normal profit. Analyse the Schumpeter’s
theory of profit. 14

OR
Explain interest rate along with classical theory of interest rate.

3. Assess Pareto’s concept of Social Welfare economics. 14
OR
Give concept of General and Economic Welfare. Discuss the Pigou’s Welfare
€CONOmics.
4.  Discuss any two of following : 14

(1) Difficulties of asymmetry information.
(2) Adverse selection and single crossing
(3) Moral Hazard

5. (A) Choose the correct option. 5

(1) According to theory monetary and non-monetary forces are
determining the rate of interest.

(a) Classical (b) Keynesian (c) Lonable funds

(2)  When the marginal productivity of labour increases the wage rate is

(a) increases (b) stagnates (c) decreases
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3) risk involve uncertainly and give rise to profit.

(a) insurable (b) non-insurable (c) normal

(4) Asymmetric information leads to
(a) moral behaviour (b) moral knowledge (c) moral hazard

(5) The exculsive managerial structure of a firm can best explained with the
help of theory.

(a) Game (b) Profit (c) Return-to-scale

(B) State whether the following sentences are true or false.

(1) Marginal factor cost is the cost of using an additional unit of a factor of
production.

(2) Profit is a contractualised income.

(3) The term value-judgement in social welfare economics refers to ethical
value.

(4) Pareto’s concept of welfare is dependent on money.

(5) Sellers send documents to buyers and convey information about a product’s
quality.

(C) Answer the following one or two sentences : (any four)
(1) Explain the determination of wage rate in perfectly competitive market.
(2)  Give the concept of gross profit and net profit.
(3) Explain the concept of Repo-rate and reverse Repo-rate.
(4) Explain the difference between subsidy and tax in the concept of welfare.
(5) Give the concept of “Two-person’s game’.
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